
S3

The ratio of sum of seven and three times a to two is 

20. 

2)

Multiplying 8 with the di!erence between 4 times u 

and 9 gives 15.

3)

The quotient of 16 minus x and 2 is same as 8.4)

One-fourths of k subtracted from 51 gives 47. 5)

36 added to four-thirds of r is equal to 41. 6)

Twice the sum of 3 times v and 9 is same as 26.7)

4 multiplied by the double of p minus nine equivalent

to twenty. 

8)

The ratio of the sum of c and 6 to four is 7c.9)

41 minus 9 times h gives 19.10)

The sum of three-quarters of s and 23 gives 36.1)

Translate each sentence into a multistep equation.
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